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General Instructions :
Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 30 questions. All questions are compulsory.

(it)  This question paper is divided into five sections — Section A, B, C, D and E.

(iti) In Section A - Questions no. 1 to 12 are Multiple Choice (MCQ) type
questions, carrying 1 mark each.

(iv) In Section B — Questions no. 13 to 18 are Short Answer (SA) type questions,
carrying 2 marks each. Answers to these questions should not exceed 50 words
each.

(v)  In Section C — Questions no. 19 to 23 are Long Answer (LA) type questions,
carrying 4 marks each. Answers to these questions should not exceed 100 words
each.

(vi) In Section D - Questions no. 24 to 26 are Passage, Cartoon and Map-based
questions.

(vii) In Section E — Questions no. 27 to 30 are Long Answer (LA) type questions,
carrying 6 marks each. Answers to these questions should not exceed 170 words
each.

(viit) There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A

Questions no. 1 to 12 are Multiple Choice (MCQ) type questions, carrying

1 mark each. 12x1=12

1. Which one of the following Princely States initially opposed joining the
Indian Union ?

(a) Baroda (b) Hyderabad
(c) Mysore (d)  Gwalior
2. Which of the following are the common features for both, the Planning
Commission and NITI Aayog ?
(i) Both are non-constitutional bodies.
(i1))  Both have significant roles of states.
(iii) Both have the Prime Minister as chairperson.
(iv)  Both have the power to allocate funds.
Choose the correct options :
(a)  (ii) and (iv) only (b) (1) and (iii) only
(c) (i) and (iv) only (d) () and (iii) only
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(a)
(b)
(c)
(d)
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A e 4 TR §TE |

dt . g gum @ 59 |

e AN g foham |

frafafga o @ o9t toHifds ol SHar & GEe wE @ e qE off,

RTEehT e STAYRIY AR 5 1975 H TR o1 ?

(a)
(b)
(c)
(d)

TRAT S

AR hr(ee el (M)
YA ik g

L LIS CIA R

A g1 e fou B — o w o sIfirhed (A) 991 gE Sl B (R) R
JAferd foram TRT B | 31 AT &l &9H ¥ uleu R 9 fer mw foemreut
(a), (b), (c) 3 () ¥ & IR % &4 | Hal fdehed FHT |

SUFYT (A) : UG 4 TEWIEAT W AT qLHTY] FHTE e o faw SR faa,

dfepa 5 oft g 3 @ H.A. & rffeadeeia fowar ==
oy fopam it A A, W sEaeR® w1 4 3hR T fe |

R (R) : Y gl foRy ®9 8 T SRRl W An gt off SR

(a)

(b)

(c)
(d)

TTTY] STRh-FUS Ui WRAT o TSR i 99 aTd! off |
ATHAT (A) TR RO (R) THT T&l & IR SR (R), AR (A) Hi
HE! ST Ll 2 |
HWHAT (A) 3R FR (R) qHI F&l &, Ted BT (R), AR (A) H
HE AT g L ¢ |
HWHAT (A) HEl 2, T FHR (R) TeHd 2 |
AMH (A) TTeTd 7, T HRU (R) &I 2 |
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3. Which one of the following statements is not true about the result of
1989 Lok Sabha elections ?
(a)  Congress Party emerged as the largest party.
(b)  National Front formed the Government.
(c) V.P. Singh became the Prime Minister.

(d) Mandal Commission was appointed.

4, Which among the following political parties was not a part of the
Jayaprakash Narayan (JP) led peoples’ march to Parliament in 1975 ?
(a)  Bharatiya Jana Sangh
(b)  Communist Party of India (IM)
(c) Bharatiya Lok Dal
(d)  Socialist Party

5. Two statements are given below — one labelled as Assertion (A) and the other
labelled as Reason (R). Read these statements carefully and choose the correct
option as the answer from the options (a), (b), (c) and (d) given below.
Assertion (A) : India pleaded with the superpowers for comprehensive

nuclear disarmament, yet India opposed the indefinite
extension of the NPT and also refused to sign the CTBT.

Reason (R): These treaties were selectively applicable to the
non-nuclear powers and legitimised the monopoly of the

five nuclear weapon powers.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.
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A= a1 e fou g & — foH wh il sfiehed (A) 991 gE Sl HRU (R) R
Aferd foram TRT B8 | 31 AT &l &9 ¥ ufew IR 9 fer mu foeheut
(a), (b), (c) 3 () H & IR % &9 | Hal fdehed FHT |
37T (A) :  <feqor s g 1 ° fafauar 1 udes 8, o oft eferor wfsen
& fafim esnt | wep St Teifaes omedt @ |
HN (R) : %% gueed 3R Hiursti & arasg, @t g ufineng o
ST TATehds hl STTRITIST | 9T B |
(a) AMMHAT (A) TR SR (R) T T&l 8 3 HROT (R), MR (A) hHi
g U1 hdl & |
(b)  SAfTHA (A) 3 R (R) TAT Tl §, T HRU (R), AMTHAA (A) i
&l AT FgT Rl 7 |
() P (A) U8l 8, 9%q SR (R) TAd & |
(d) AR (A) TAd 7, T RV (R) Hal 2 |

UH ¥ i 9gAE HINT S SR AR g & o gem 787 7 |

(a) AU

(b)  Hficieht

(¢)  ABMEAH
(d) YIH

39 <9 I UgIE hifou Rreeht diamd sifirenier eferor TRETE S % @y e
7 |

()  STHIEH
(b)  WRd

(¢c)  STATCH

d 9=

T1.ELT. IV SR 5 SR § 91 370 MR 35T o 3IHTH o AT 5 T,
2019 ! TST 9T H hi7-a1 faeres v foam 2

(a) S SR HIUR IiEve fagees
(b) T 3R HIIR gur T

(c) ¥ 3R IR gied fqeaeh
(d) T AR SR e fages
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Two statements are given below — one labelled as Assertion (A) and the other
labelled as Reason (R). Read these statements carefully and choose the correct
option as the answer from the options (a), (b), (c) and (d) given below.

Assertion (A) : South Asia stands for diversity in every sense, even then

the various countries in South Asia have the same kind of
political system.

Reason (R): Despite many problems and limitations, all South Asian

(a)

(b)

(c)
(d)

countries share the aspiration for democracy.

Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

Assertion (A) is true, but Reason (R) is false.

Assertion (A) is false, but Reason (R) is true.

Identify the country which is not landlocked.

(a)
(b)
(c)
(d)

Nepal

Sri Lanka
Afghanistan
Bhutan

Identify the country which shares its borders with most of the South
Asian countries.

(a)
(b)
(c)
(d)

Afghanistan
India
Bangladesh
Nepal

NDA IV government presented which Bill in Rajya Sabha on
5th August, 2019 for the abolition of Sections 370 and 35-A ?

(a)
(b)
(c)
(d)

Jammu and Kashmir Delimitation Bill
Jammu and Kashmir Reform Bill
Jammu and Kashmir Reorganization Bill

Jammu and Kashmir Abrogation Bill
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11.

12.
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fefeifad § | & 1970 o < § TqU1 fova o 3= ggr-vhifd o fou fer
ot ?

(a) EIH TS (STHLRI) T HallSAT T ATHHT
(b)  WRA-UTREAM TG
(c) Tomaam g3

(d) IWETHREA Ig

o

fefeiRad § O H-91 T A foiom &1 329 787 8 ?

(a) AU TS TSl o sta qHH 37 oy foafa e
(b) TCH TSAT I Aiafs Afei § geag 7 T

(c) U 3fyeh —ETa 3R frsaeg foawa &t womean e
(d)  IMfd 9 GL&T ! Sgrar ol

fAfIRaa ! HICTHATIHR SFTEd HiT
(i) T I AT
(i) U T 6T T
(iil) ~ SATERAH T TATHT
(iv) = # FHfv o1 fsiem
gl forehed T -
(a) (i), (1), (iv), (iii)
(b)  (iid), (iv), (1), (ii)
(c) (i), Av), (1), (iii)
(d) @i, (Av), (iii), ()
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10. Which of the following was responsible for high inflation in the entire
world in the 1970s ?

(a) The United States’ attack on Cambodia
(b) The India-Pakistan War
(c) The Vietnam War

(d) The Arab-Israel War

11. Which one of the following statements is not an objective of BRICS ?
(a)  To distribute equal economic benefits among its member-states
(b)  Non-interference in the internal policies of member-states
(c) To establish a more equitable and fair world

(d) To promote peace and security

12. Arrange the following in chronological order :
(1) Establishment of SAARC
(ii)  Establishment of European Union

(1i1) Establishment of ASEAN

(iv)  Privatisation of agriculture in China

Choose the correct option :
(@) (i), (@), (iv), (iii)
() (i), (iv), (), (ii)
© (), Giv), (), Gii)

(d)  @G1), (v), (iii), @)
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14.

15.

16.

17.

18.

19.

20.

21.

22,

23.
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Qus @
HEA TN i fohral a1 TBIRET 1 YoAmha T | 2x1=2
YA 3R &H o s G4l I TGd oHH Tl foheal &l Rl 1 Towei ol
dillng | 2x1=2
dHeITd IUTSI g0 JfdqTied WehicH HHGdE o fohal o fogral sl ISR
i | 9x1=2
1975 H =S MUTdehTed o AT H doshlcid TWhR grT feu U fopegl a1 aehi
! IR HIT | 2x1=2
Hifa m o fohdl qF g SR *1 3@ HINT | 2x1=2
ayd HIfeRd 99 o fohral 91 TORISAT o6 A fAfET | 4><é=2
Lus T

T & fIC 90 @@ & |d & ®9 § 3dehdle h1 g IGEWN hl TR o
fareetwor it | 2x2=4

2fequr wfsr o SIS el 3 WA o IREIes gre-el ol fagavo Hifu | 4

2014 & FAEI % ¢ YA TeHid § AW fhdl IR sgamal &1 oA

$||:_’|Q | 4x1=4
T ° TerTeaTdl 3T o foheal @ ShIUT skl ISR shIfGTU | 2x2=4
fordft 291 b1 Toifa 9T Svefientur & feregl &1 THTal ohl ISR hifTT | 2x2=4
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13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.
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SECTION B

Evaluate any two recommendations of the Mandal Commission. 2x1=2

Analyse any two factors that strengthened relations between India and

Russia. 2x1=2

Highlight any two principles of Integral Humanism advocated by Deen
Dayal Upadhyaya. 2x1=2

Highlight any two arguments given by the then Government in support

of the Emergency declared in 1975. 2x1=2

State any two main functions of the NITI Aayog. 2x1=2

Name any four Republics of erstwhile USSR. 4x é =2
SECTION C

Analyse terrorism as a new source of threat to security with the help of

two examples. 2x2=4

Analyse the mutual relations between the smaller countries of South

Asia and India. 4
Describe any four changes in Indian politics after the 2014 elections. 4x1=4
Highlight any two reasons of the separatist movement in Mizoram. 2x2=4

Highlight any two effects of globalisation on the politics of a country.  2x2=4
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24. WA o TG MU TSHIfos WaERE (756 183 W) ¥ =91 T3 & @), @), ©

e (D) o g 3ifehd fopam mor 8 | = & 8 IR % ITMER WS TS

UEAH HINT 3 I IT-feaent B gk TE AW, JAN I TS AR
HY-HEA 991 AEeA B fo mn wefia iR, i @ T arfaee % &9 H

fofew

TN <hl T8 JHhR
& SHH-EE

s |
qaYd 3181

ST pl 4H

(1)

(i)

(iii)

(iv)

() 98 TS T8 wadaar & 999 9@’ kgl San o |

(i)  TEqfaa foeh @ 3gR W ffta T |

(Gii) 98 TS fSen 1947 ° fawifora foram mam o |

(iv) 1952 # Tfdd 98l TS |
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SECTION D

In the given political outline map of India (on page 15), four States have
been marked as &), @), (© and (D). Identify these States on the basis of
the information given below and write their correct names in your
answer-book along with the respective serial number of the information
used and the concerned alphabets given in the map as per the following

format : 4x1=4

Serial number of the | Concerned alphabet Name of the
information used in the map State

@)

(ii)

(iii)

(iv)

(1) The State which was called ‘Madras’ at the time of Independence.

(i1))  The State formed on the basis of imbalanced development.

(iii) The State which was partitioned in 1947.

(iv)  The first State created in 1952.
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For question no. 24

[ Ol AAZARA NOA T
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G
Fig:  [AEliad Jv7 FacT AT GhedEt & 7 Jv7 & 24 % T W
g: 4x1=4

() i TS 1 fOuTSE ek ka8 @l TS §491U W Y ?
(i) T H AgE HEAT TH el T 1 JAHH I F1 8 ?

(iii) IAEUE fohE T T I HL F9=T T 2 2

(v) 38 Ts¥ &1 M faRge 59 7y yewr 9 e & s91— =1 3§ |

25. i fqu Tu S 1 Y 31eeH HIfT 3R g MU ywt % I AN | 4x1=4

(i) SN feu 7u A w1 qay fhe @A T 7 ?
(a) oTRREM (b) I T
(c) ©mh (d) Tored

(i) T T e ffciiad § & fopeh R | 7 2
(a) TS ST
(b) AR FHSAT L T STHBA]
(¢c) YcHdl o foTu Ueh Hiaa™ o9 | 3TEHaAd
(d) TR T § BT
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Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 24 : 4x1=4

(1) Which two States were created by dividing ‘Bombay’ State ?
(i1)  What is the present name of former ‘Madras’ State ?

(iii) Uttarakhand was carved out of which State ?

(iv) Name the State which was carved out of Madhya Pradesh.

25. Study the cartoon given below carefully and answer the questions that
follow. 4dx1=4

i) The above cartoon is related to which organistation ?
(a) ASEAN (b)  European Union
(c) SAARC (d)  BRICS

(ii)  The above cartoon is about which one of the following ?
(a) Global warming
(b) Failure to make a trade agreement
(¢) Failure to draft a common constitution

(d) Failure to protect the environment
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(iii)

(iv)

e | fe@mn T f9ani o1 g 91 ST | 2
(a) TS & UeE o

(b) TS <hl Tehd

(¢) T3 hl HAhaAdl

(d) TS I T

Hlgd  HAfUd TS 1 €191 fopg a9 g3 off 2
(a) 1967 (b) 1985
(c) 1992 (d) 2006

Fig: AT J97 FIT FIRETET GRSl & o7y ¥o7 qET 25 & T W

59/3/2

@)

(i1)

(iii)

(iv)

A JISHT o dgd fohd T3 <hl TATYAT <hl 175 oft 2

(a) U 9iwg
(b) U 3Tieieh HEANT HTe
(c) Z@tﬁ?[ qH

d) IO i agem
Tifecee afY @l TU 1 fohd g1 < A Ty foparm o 2

4x1=4

(a) eIt Jurf (b) TsreHt, Sh1E

(¢c) 74T, Tted d) s, s

I R refeaTyn ¥ gUR @ % forw fow a¥ 4 ‘gor g’ 1 Aifa
T ?

(a) 1975 (b) 1977

(c) 1978 (d) 1979

HIF-H I ST 1 g ATEIH o FEATH 96 & ?
(a)  SSHNRME, HoifsmE, fhiordid, famgR o emscie
(b)  ZESHTMET, FolReE, fhiadid, aRee 3K g8
(0  semfemn, fefadia, famgy, arde ot 33
(d)  zeHfRmE, wofien, fefadia, fouaam i o
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(iii)) What does the circle of stars shown in the cartoon represent ?
(a) Member-states of the organisation
(b)  Unity of the organisation
(¢)  Success of the organisation

(d) Composition of the organisation

(iv) In which year was the organisation related to the cartoon

established ?
(a) 1967 (b) 1985
(c) 1992 (d) 2006

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 25 : 4x1=4

(1) Which organisation was established under the Marshall Plan ?
(a) Council of Europe
(b) Organisation for European Economic Cooperation
(c) European Community

(d) European Economic Community

(ii)  Which two countries have resisted to adopt Maastricht Treaty ?
(a) Bulgaria, Romania (b)  Britain, France
(c) Denmark, Sweden (d) Poland, Finland
(iii) China adopted the ‘open door’ policy to improve its economy in
which year ?
(a) 1975 (b) 1977
(¢c) 1978 (d 1979

(iv)  Which set of five countries were the founders of ASEAN ?
(a) Indonesia, Malaysia, Philippines, Singapore and Thailand
(b) Indonesia, Malaysia, Philippines, Thailand and Brunei
(¢) Indonesia, Philippines, Singapore, Thailand and Brunei
(d) Indonesia, Malaysia, Philippines, Vietnam and Thailand
59/3/2 Page 19 of 23 P.T.O.



26.

59/3/2

fefifad T &1 eaFqds I=a il 3R for o g & S®
fafge - 4x1=4

YA & Yo Yo Tt 3 Usd Tet a9 i H Heweyet Yften g | T fagw
Tt off o SR I8 vRa i fagw Hifd & w1 R fshaam e gve
el | 3eh! T Hifd & A 98 3299 9 — HST Tod | 9T AU S F=9
TEHT, & STEuedr ol ST @1, R o9 TR & A1 fasm e | 98
S 3l ! Te-Tuerar i Aifd o g T I8 9 | A T g o
$S THITdeh g IR g U8 Wl & a1 91 o1 Toh WIXd i IR ©@H 6
Y el ASciehl gl ITfgu Fifer 39 W <l yfdssr diehad & fgamdt &
w9 H off |

() v fagw Hifa w1 g fmfa fefafea & @ =6 o 2
(a) ff.3TR. 3TrdE (b)  HgTeHT Tieft
(¢c) SO 488 (d) &R 9

i) F=faRes & @ -0 yra $i faew fifd 13RI R 2
(a) T Tt 6 T8 e
(b)  AShds S GO
(c)  OTU W WIS hl Hale[d AT

(d)  HETIIR ST

(i)  Te-Frusrar &1 31 ] |
(a) el (b)  3TEEd&E
(¢  guUFdETg d) foreht oifth e & & Je

(iv) TopepT AT o7 fh WRA I STHURRI o +qcd dldl ©@H o d19 AT

o N o
HAId T =T8T ?

(a) YR SHEH OB CERI
(c) .3, 3Tegat d) 3w ot
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Read the following passage carefully and answer the questions that
follow : 4x1=4

The first Prime Minister of India played a crucial role in setting the

national agenda. He was foreign minister also and exercised profound

influence in the formulation and implementation of India’s foreign

policy. The three major objectives of his foreign policy were to preserve

the hard-earned sovereignty, protect territorial integrity and promote

rapid economic development. He wished to achieve these objectives

through the strategy of non-alignment. There were parties and groups in
the country that believed that India should be more friendly with the bloc
led by the US because that bloc claimed to be pro-democracy.

(1)

(ii)

(iii)

(iv)

Who was the main architect of India’s foreign policy ?
(a) B.R. Ambedkar (b) Mahatma Gandhi

(¢) Jawaharlal Nehru (d) Sardar Patel

Which one of the following is an objective of India’s foreign
policy ?

(a) To pursue its national interest

(b) To preserve democracy

(¢c) To strengthen its Armed forces

(d) To become a superpower

Non-alignment means
(a) toremain neutral (b) non-interference

(¢) to remain isolated (d) not joining any power bloc

Who believed that India should be more friendly with the bloc led
by the US ?

(a) Bharatiya Jana Sangh (b) Swatantra Party
(c) B.R. Ambedkar (d) All of the above
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Qs e
dfgaer TSHIfG I fohmal IR WE@QUl 9AiaUoid fo=ametil &l 39FR
Hifra | 4xzé=6
AAAT
et % foredl <Ir afofen oo 1 3R Hf | 4x1=6
TYh TSCHH HL&T qNug o ¢ Heei o T Seaniaa feheal IR ATIguel
1 qliEmr iR | 4x1 =6
AAAT

JaId U HeH H G Usghd i Af4eh YEReh s9H 6 oy 2005 |
e <Ol o Ug@l gl AW MU fRdl 9R hedi W fawerwor
I | 4><Zé:6'

“Go M oW TAEl W HIW U b UYd § WA TS
AlhdTieh Jehfd T g JTdehd JHTE &1 STl |7 36 9 % 98 | hig

T e G | 3x2=6
HAAAT

1970 % T3k T 3fe0 Tieht st AR isadT o fofe Sierlt fohegl = sren

&1 fowemor Hife | 4xlé=6

fyepTsT & AifeRrd TURTSAT St TENl IR @adl il A IYE HH I

fohegl < ShTTehl A1 UM HITVTT | 3x2=6
HAAAT

frETsd Meled i Hiodd T9 § IR A o [0 FSle) i a1l his

T RO T HINT | 3x2=6
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(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

SECTION E

Highlight any four environmental concerns that have become
1

important in global politics. 4x1 5 =6
OR

Highlight any four economic consequences of globalisation. 4x1 é =6

Examine any four criteria proposed for new members of the

UN Security Council. 4x1 é =6
OR

Analyse any four steps suggested by the heads of the member

states in 2005 to make the United Nations more relevant in the

changing context. 4x1 é =6

“The dominance of the Congress Party in the first three general

elections did not adversely affect the democratic nature of Indian

politics.” Support the statement with any three arguments. 3x2=6
OR

Analyse any four reasons responsible for the popularity of Indira

Gandhi in the 1970s. 41 é -6

Describe any three factors that make most of the former Soviet

Republics prone to conflicts and threats. 3x2=6
OR

Explain any three reasons that forced Mikhail Gorbachev to

initiate reforms in the Soviet Union. 3Ix2=6
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